3-320
! l T ! ] ! ,
| Ly L U, I, . s v R R, Ry Py
Typ Vyrobce !‘ 1 Se* D* A*
Y A \ mA A mA[V %% ‘ kO kQ Q W
T I 2 3 4 | 5 6 7 8 9 | 1w 1 o1z | 13
ECC89 Mullard 63 | 034 9 | 15 12 | 12,3 36 | 29 |
| |
i
| I R
PCC89 Brimar Lo72 0,3 90 15 128 | 120,12 31 | i
, - PV ; T g
PCC805 Ediswan T 0,3 90 15 1,2 9 27 i
| ] I I -
i 30L17 Ediswan ) 0,3 75 15 16,5 40 i
PCC806 Ediswan : 200 14,8 x/8 14,5/ L 0,82 82
! 0,145 :
| 200 15 x/11,5 19/0,19 3,9 82 |
. —- - | _ . ‘ N -
i I
‘ 1E3 CBS Lo1,25 | 0,22 150 20 3,5 3,5 14 l‘ |
6BN7 Tung-Sol | 63 0,75 |
6EZ8 GE 63 125 4,2 1 4.2 57 135 |
E283CC Valvo {63 | 033 100 0,5 1 1,25 | 100 80
! 250 | 1,2/0,02] 2/4 1,6 100 | 625 | ‘ \
Uao max = 600V, Ua max = 330V, — Ugl max =55V, +Ugi max = 0,5V, Ik max = 9 mA,
Ca.I/aII max = 0,1 pF, CglI/glII max = 0,01 pF, CaI/glII max 0,06 pF, CaII/g]I max — 0,01 pF
ECC807 Brimar 1 6,3 0,32 250 2,25 1,2 3,3 140 42 ‘ ‘
ECC863 RFT : 6,3 0,33 100 0,5 1,25 | 100 2 000
; 250 1,25 1,6+0,35 100 1 600
! +0,15 —0,3 \
4CM4 amer. ©o38 | 03 175 12 1,5 | 14 68 | ‘
6CM4 TEN 6,3 0,17 i
E86C Siemens 6,3 0,165 175 12 0 14 68 4,9 125 |
, 185 12 +8 14 68 49 | 300 |
! | 175 ] 200 | :
Uao max = 550 V, Ua max =220 V, —Ugt max =50 V, Jic max =20 mA, Riyt max — 20KQ, Ukt max = 100 V,
EC86 evrop. 6,3 0,175 175 12 1,5 | 14 68 |
PC86 evrop. . 38 0,3 220 12 i 5,6
Uso max = 550 V, Us max = 220V, Ik max = 20 mA, —Ug1 max = 50 V, Us/t max = 100V, :
Ce1/x = 3:6 PF, Ctg1 max = 0,3 pF )
EC806S Telefunken | 6,3 0,165 175 | 12415 14+3,5 | 68 ‘ 125 '
: -3
; 175 9 8 |
; 185 12 +8 14 | 800
| Uso max = 550 V, Us max = 250 V, I max = 20 mA, —Ugs max = 50 V, Ukt max -~ 100V, |
i Cx/t+g1 = 6,6 pF, Cag1+t = 2,1 pF {
EC866 RFT 6,3 0,165 185 {12108 | +8 14+3 70 800
—-2,5
14G6 Sylvania 14 0,1 100 0,8 1 1,4 70 50 1
EBCB81 evrop. 6,3 0,23 250 1 3 1,2 70 58
250 0,7 220 1800 51%
250 1,15 100 | 1200 43*
250 0,76 20 0 52%
250 1,4 [ | 10 | 0 44*
Uao max = 550 V, Us max = 300 v, Uk/f max = 100 V, Udinv max = 350V, Ix max = 5 mA,
Carjant max = 0,2 pF, Cuije max = 0,25 pF, Carrjt max = 0,05 pF, Carg1 max = 0,007 pF,
UBCS81 evrop. 14 0,1 100 0,8 1 1,4 0 | s0 |
170 1,5 1,55 1,65 70 42 :
100 0,18 | 220 [ 5 600 41%
100 0,28 {100 | 3900 34%
100 0,21 1220 | 0 41*
100 0,35 i 1100 | 0 35%
170 0,28 ‘ 220 i 5600 4%
170 0,45 : 100 | 3900 | 37% |
170 0,46 ; | 220 * 0 48%
170 0,82 } | 100 i 0 42* }
88

3-320

]

I ]
Ugl ef : : ‘ !
Ugi/g1 | d Py max . Rg1 max j Cag1 | Pouziti | \l
of* l } ! Pozndmka Patice
v % W Ma ° pF |
1 l B GO A O T T GO T 20 : 21
{ ; g 1. P
| 1,8 I:1 I:1,9 ; 0 ! Uao max = 550 V, Ug max = 130 V, Ix max = 22 mA, —Ug1 max = 50V, I 320
| | :0,5  1I:4,1 | i Ukt max = 50 V, Uskaijt max = 180 V, Cgrykr+tgiires = 3,8 pF, ‘
w i i . Cuaginse = 6,3 pF |
— _— 4 J— — S ;
| \ DT - — !
1,8 B 93 | Usmex =130V, L max = 22 mA, Ui/t ef max — 50 V, i
I1:0,5 | ‘ Uskirjt max = 180V l
— PR R [ R _ :
2 1:0,5 1:1,5 " 0 Us max = 250 V, Ix max = 16 mA, Ukt max = 90 V, |
) 11:0,02 11:3,6 | 93 Ceiijxrstes = 3,3 PF, Carjuittes = 1,9 pF |
L6 L1 LLS | 0 | Usmax =150V, f mex = 18 mA, Ut max = 90V, 320a
i 11:0,02, 93 Ceiyjutstrs+ginn = 4,7 pF, Carjkrstrstginn = 2 pF
; 11:3,6 0
‘ 0
| - H I Tt T I
| ' L5 ! 533!  Cg - 1,25pF, Cy= 0,75 pF 321
- i ! | S—— [
| i f i | ' - I
. I \ \ 322
: i ! T -
2 } ;9,33 ‘ Ua max = 330V, —Ugi max = 500V 323
; 1,2 2,2 j 1,1 ’ 0 3 OT, SP, Tol, DL 10 000; # max = 170°C, 324
. | : | o
: Uk/t max ~ 200V, Ript max 20Kk, Igl max - 0,2 lJ-Aa Cgl = 2pF, Cy =2 pF, Cgll/l = 0,01 pF, CglII/X max = 0,02 pF,
:’ B y I
| _
- 1 2,2 23 | 0 Uamx =300V, I mex ~ 8 mA !
| | 1, 7 }
i 1 2 | H 0 : Uao max = 550 V) Ui max = 300 Vs Iy max = 8 nlA: “Ugl max = 50 V)
| ; ! : Ukt max = 200V, &y max = 170°C
] i L A |
. o
P22 1 |2 '\ 9b : Ua max = 220 V, Ik max = 20 mA, Reky = 230 Q, fmax = 1 000 MHz; 325
| | | 3 | Gu — 3,6 pF, Cax = 0,2 pF |
o |~ g
22 1 ‘ 2 0 i Rekv = 250 @, SP, DL 10 000
:' . | o
| ! ; : ! l25 . B~12 MHz, F~175, f = 470—800 MHz;
Smax = 800 MHz; Cg1/x = 3,6 pF, Cask = 0,2 pF, Cigisr - 6,6 pF, Cgijxer = 3,9 PF, Caskst = 0,3 pF, Cgi/t max = 0,3 pF
: o221 |2 0 | Reaw=2300; '
1’ i i 0,05 ! | 33¢ | Iy == 50 pA; !
| Ob max = 165 °C, fmax - 800 MHz; Cy1/x+1 == 3,9 pF, Ca/k+t = 0,3 pF, Cx/g1+t = 6,6 pF, Cajgr+t = 2,1 pF, Cax = 0,2 pF,
|
e S P -
E : 2,4 ‘ 1 2 “ 0 Rexv == 230 Q; OT 2,5 g, NA 500 g, DL 10 000;
r 1 Q ! L
j i | 0,121 : —Ig1 min = 1 YA;
i i i 25
. v max = 165°C, fmax -~ 800 MHz; Cgijx = 3,6 pF, Cajx = 0,2 pF, Cgijkst = 3,9 pF, Caskat — 0,3 PF, Cgist max = 0,3 pF,
e : I I B | —
| | 20 J 2 25 | Rexv=2509, DL; Usomax = 400V, Ua max = 220V, —Ug1 max = 50V,
: | i J i Pg1 max = 20 mW, I max = 20 mA, Uk/t max = 100V, 9y max = 165 °C,
} | ‘ i f Smax = 800 MHz
T | i -
j[.,_,*_ ) *_{7_ 7 *7‘7 71 1,3 l 5 ‘J Cg1 = 2,4 pF, Cy = 1,3 pF 326
1 0,5 I 3 1,2 0 [ Rexy = 150 Q;
| 0,9 ][ 1 83a Uset = 10V, Rg1r = 680 kQ;
E 1,1 [ 1 83a Uset = 10V, Rgyr = 330 kQ;
! 0,8 | 22 | 83a Uset = 10V, Rgr = 680 kQ; ,
09 | S22 | 83 | Uper=10V, Rg = 330 kQ;
14 max = 0,8 mA, Iy vh max 5 mA; Cg1 = 2,3pF, C3 = 2,3 pF, G =0 =
> > Cg1/t max = 0,05 pF, Car = 0,9 pF, Can = 0,9 pF
Cari/gt max = 0,007 pF, Cat/a max = 0,005 pF, Carr/a max = 0,01 pF ’ P b= 87 R
! ‘ C \‘ | —
! f o5 3 12 | o Uso max = 550 V
o | | o Ua max = 250 V
) | 1 | 83a | Uset =5V, Rgrr = 680 kQ; | Ix max = 5 mA
33 ! | 83a Uaet =5V, Rgr' = 330kQ; | Upst max = 100 V
l ; | 22 i ,‘ 83a Uset =5V, Rgir = 680 kQ; U4 inv max = 350 V ‘
28 N | 8% Ui =5V, Ry~ 330K0; | I mex = 08 mA |
1,85 j ; 1 ‘ . 83a i Uaet =8V, Rg1 = 680kQ; | Iy vh max = 5 mA i
26 | o | 83 Us ot = 8 V, Rg1r = 330 kQ; ‘
‘ 1,3 22 I J 83a | Ua et = 8V, Rg1r = 680 kQ; | Kapacity viz EBC 81 ’
| 13 | (22 | 83 | User =8V, Ra = 330kQ; ‘ (
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